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Guess Paper – 2007

Class – XI

Informatics Practices
Time: - 3.15 hrs 







                             M.M. - 70

Additional time of 15 minutes is given for reading and understanding the question paper not writing the answers.      




            
General instruction
1. The question paper consists of three parts. A,B and C. 

2. All question are compulsory.

3. Use of calculator is not permitted. 





                       [SEC-A] 
                                              /* BUSINESS COMPUTING  PART */
      1.(a) Distinguish Between Volatile And Non Volatile Memory.

[5*2=10] 

         (b) Difference between Algorithm and Programming.  

         (c) What Is A Multi Programming? How It Is Different From Time Sharing?

         (d) Define Scanner, Printer, Pen drive And Webcam.

         (e) Difference between Hardware and Software?

         [SEC-B]  
                           /* VISUAL BASIC PART */











[5*2=10]

      2.(a) “VB is not object oriented language”. Justify this statement.

         (b) Differentiate using a suitable examples between Msgbox() & Inputbox() function in vb.

         (c) Differentiate between public and private variables & discuss their scope visibility.

         (d) Explain the following term:- i>Modular programming ,ii>OOPS and iii>RAD
         (e) Expand the abbreviation ODBC. What does ODBC mean?

      3. (a) The state electricity board generates monthly electricity bill to be compound as follows:

                Minimum: Rs 200 for first 100 units




[4]



Plus Rs1.00per unit for the next 100 units.




Plus Rs.0.75 per unit for the next 100 units.

   


Plus Rs. 0.50 per unit for any unit beyond 300.

               Write a prog. In vb. Which calculates the monthly bill for a customer based on the number 

               of  units consumed.  

           (b) Write a prog. To check weather a number is even or odd.

[2]

           (c) Write a prog. To swap two numbers without using third variables.  [2]
              (d) Write a prog to print a pyramid as given:



[2]

                     1


         1 2

                     1 2 3
                     1 2 3 4

                     -----------

                     -------------

             (e) Write a prog. To print the multiplication table of any number.
[2]
     4. (a) In a company an employee is paid as follows:



 [5]
               SALARY



DA



HRA

          (i) less than 2000                                  10 %



 5%

          (ii) greater than equal to 2000

                But less than 4000


 25 %                                      15 %

          (iii) greather than equal to 4000

                 But less than 8000

 30 %                                       25 %

          (iv) greater than 8000                           40 %                                       30 %

                  Calculate the net salary of an employee as  salary + DA + HRA

         (b) Define the following terms :-i> DHTML,ii>HTML.iii>Data Report    [3]
            [SEC-C]
  /* ORACLE PART */
5. (a) Define two and three-tier computing model.
   
                      [2]

    (b)
Difference between DBMS & RDBMS.



          [2]

      (c) What’s SQL? What are different categories of commands available in SQL?      [2]
      (d) How many types of user work on database systems?                              [2]

      (e) What is Normalization? Define 2-NF (With one  example)                            [2]

  6.  Draw an entity-relationship diagram to illustrate the case given below:   [5]
     In a factory, a Vendor can Supply various items. Each vendor has got a  vendor   code, 

     Vendor Name, vendor address and each item also has got an item code, Item name, its 

     Price per unit. When a vendor supplies an item  the  transaction is recorded  and   the 

     Information   about the transaction  stored is date of  supply, Quantity supplied Order 

     Number, Item code and Vendor code. Map the E/R diagram to corresponding tables. 

    Also identify the key fields.

7. Given two tables: EMP_MAST and AIR_SAHARA. Perform questions(7a-7e) Based 

            on these two tables. 

TABLE-EMP_MAST   
	Attribute Name
	Data Type
	   size
	Constraint
	Descriptions

	EMP_NO
	Number
	10
	Primary key
	Cust number

	FNAME
	Varcahr2
	25
	Not null
	First name

	LNAME
	Varcahr2            
	25
	Not null
	Last name

	DOB_INC
	Date
	
	
	Date

	POSITION
	Varcahr2 
	25
	Not null
	Position


TABLE-AIR_SAHARA

	Attribute Name
	Data Type
	   size
	Constraint
	Descriptions

	 FLIGHT_NO
	 Number 
	   10
	Primary key
	Flight number

	 ORIGIN
	Varcahr2
	   25
	Not null
	Place of origin 

	DESTINATION
	Varcahr2
	   25
	Not null
	Flight Destination

	SEATS
	Number
	   4
	 
	Seat number

	FLT_DATE
	Date
	
	Not null
	Date of flight

	FLT_PRICE
	Number 
	 (8,3)
	
	Price of a ticket.


7.  (a)Write the sql command to create the above two table including the constraints.              [3] 

       (b)Write the sql command to insert the data into above two tables with help editor  must insert  4  tuple.[3]      
       (c) Write the sql command to modify the data type 1st table EMP_NO (number to varchar2)   

             And rename EMP_NO to EMP_ID.





                            [3]
       (d) Write the sql command to rename 2nd table AIR_SAHARA to AIR_JET and delete all       [3]
             Columns of the 1st & 2nd table.

       (e) write the sql command to display  all the details of POSITON whose EMP_NO is (787 [3]
            And 999).
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